Scan 3/3/16 Qu

FOR

CONSTRUCTION OF ANDA BEACH BAR ANDA, BOHOL

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT made by and between the Provincial Government of Bohol (Government, represented by the Governor, Atty, EDGARDO M. CHATTO hereinafter called the "Owner"), as the PARTY OF THE FIRST PART and HAUSLAND CONSTRUCTION presented by SONNY BOY V. BAGANG (hereinafter called the "Contractor") as the PARTY OF THE SECOND PART.

WITNESSETH

WHEREAS, the Owner is desirous that Construction of Anda Beach Bar Anda, Bohol belonging to the Provincial Government of Bohol (hereinafter called the "Project") be constructed under the Provincial Road Infrastructure Development Program;

WHEREAS, the Owner has accepted the bid of the Contractor for the execution of the above mentioned project in the amount of Four Million Nine Hundred Ninety Seven Thousand Pesos Only, (P4,997,000.00).

WHEREAS, Project shall be completed 180 Cal Days in accordance with the provisions of the Bid Documents;

NOW, THEREFORE, the Parties hereto further agree on the following:

- The following documents shall be deemed to form parts of this contract, viz:
 - Contract Agreement;
 - b. Bidding Documents;
 - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents/ statements/statements submitted;;
 - d. Performance Security;
 - e. Credit line in accordance with the provisions of this IRR, if applicable;
 - f. Notice of Award of Contract;
 - g. Other contract documents that may be required by existing laws and/or the procuring entity concerned in the Bidding Documents, such as man power schedule, equipment utilization and health program;
 - Other pertinent documents as may be reasonably required by the Province.
- Project Equipments specified/needed should be stationed at the project sites until completion of all work operations. The deliberate act of removing the equipments from designated project sites is not permissible;
- The Provincial Engineer together with PEO Officials should convene with contractors or their authorize representatives for a regular Monthly Coordination Meeting scheduled every first (1st) Wednesday at 9:00 in the morning at the Provincial Engineer's Office, New Capitol Site Tagbilaran City and:

101200814 WT

101170609 37

1/23 /2017

- The pertinent provision of R.A. 9184 and its Implementing Rules and 4. Regulations, Part A, particularly but not limited to the implementation of the project as well as all applicable laws and regulations are deemed incorporated to and forming integral parts of this Contract.
- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- The Owner hereby covenants to pay advance payment to the Contractor of 15% of 6. the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

Act, No.	DESCRIPTION	Unit	Qty.	Unit Price (Pesos)	Amount (Pesos)
802	Excavation	cu.m.	\$7.03	1,395.00	79,556.85
805	Embankment /	cu.m.	80.00	616.50	49,320.00
900	Reinforced Concrete	cu.m.	60.49	10,560.00	638,774.40 /
404	Reinforcing Steel	kg	15,812.67	85.15	1,346,465,88
704	Masonry Works (CHB Walling)	sq.m.	242.00	1,207.00	292,094.00
1027	Cement Plaster Finish	sq.m.	645.88	197.00	127,238.36/
1007	Aluminum Glass Doors	unit	1.00	26,160.00	26,160.00
800	Aluminum Glass Windows	unit	3.00	4,790.00	14,370.00/
010	Wooden Doors and Windows	unit	5.00	6,895.00	34,475.00/
PLI	PVC Doors	unit	11.00	3,692.00	40,612.00
100	Conduit Boxes Fitting	l.m.	82.00	179.00	14,678.00//
101	Wires and Wiring Devices	m.	1,020.00	81.00	82,620.00
102	Panel Boards /	set	1.00	13,200.00	13,200.00
02(a)	Lightning Fixtures	lot	97.00	657.00	63,729.00₹
002	Plumbing (santary lines waterlines & fixtures)	lot	1.00	188,380.00	188,380.00
)2.2.4	Septic Tank	unit	2.00	44,960.00	89,920.00.
103	Metal Structures	lot	1.00	653,900.00	653,900.00
PL2	Light Metal Structures	sq.m.	239.00	935.00	223,465.00
014	Pre-Painted Sheet	l.m.	263.22	1,098.00	289,015.56/
032	Painting for Masonry/Concrete Wall	sq.m.	645.58	281.50	and the same of th

101200814

8029 H. A. C.			Wife wante and		Angenie unsetz
SPL3	Granite Tiles	sq.m.	697.13	Manager de abbatellement de recitar en antique l'accident en antique en antiq	
SPL4	Project Billboard.	unit	1.00	777.50	542,018.58
		din	1.00	5,276,60	5,276.60
	Note: No. of days to complete - 180 Cal. Days				4,997,000.00
			1	Total Contract	
	Four Million Nine Hundred Nir	ety Se	ven Thous	Cost	4,997,000.00
L			von thous	eand resos O	nly.
7.	Any controversy arising from this established alternative mode of settl resort to court action the parties agree court in the city of Tagbilaran to the ex-	ing dispu	ites as provi	de by law. In ca	There
seal this	IN WITNESS WHEREOF, I have he day of, 201 in 7	reunto se Tagbilarai	t my hand ar 1 City, Bohol	nd affixed my not l, Philippines.	arial .
PROVINC BY:	IAL GOV'T OF BOHOL HAUS	SLAND	CONSTRUC	CTION	
	Austr		6		
1715	GARDO M. CHATTO		They's		
EDG	Governor Ju	SON	NY BOY V. Contracto	BAGANG	
WITNESSE	SS:				
-	The same of the sa		7		
	INIO CARLON CONTRACTOR OF THE		W.		
	SINO C.REDULLA rovincial Engineer	EV	ELYNC. A Engineer I	YUBAN II	
	ACKNOWLED	GEMEN			
REPU	UBLIC OF THE PHILIPPINES) VINCE OF BOHOL) S. S.	*	101	170609 3	7/
	VINCE OF BOHOL) S. S.				
2015208 Jan-21	Personally appeared before me, Gov. overnment of Bohol with Community Tax and Sonny Boy V. Bagar (4) issued at 2016, known to me to be the sale onsisting of four (4) pages including this p	Certificating with (DASMAR	e No.081336 Community	42 issued at Bali Γax Certificate N	likan o. on
	101200814 (no	The state of the s	STATE OF THE PARTY	Towns And The Control of the Control	10

10150081

257 5/23 /2017

written, duly signed by the parties and their witnesses on each and every page thereof, and they acknowledged to me that the same is their free act and deed.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial day of 10 FEB 2010. 201 in Tagbilaran City, Bohol, Philippines.

Doc. No. Page No. Book No.

Series of 201

P Lifotime Wo- 60899, 02 24-97 of Aftorneys No. 38862, 3-14-94 Compilance V-0011575, 11-02-15 The City of Tagbilatan And Other Municipalities of Bohol

101170609

101200814 75